SECOND YEAR HIGHER SECONDARY EXAMINATION-2023

ECONOMICS
Time: 2.30hrs

Score: 80

I. Answer any 8 questions. Each question carries one marks.
1. Who is the father of Modern Economics.

A.  JMKEYNES B.ADAM SMITH C.ALFRED MARSHALL D. J.R HICKS

2. Wants satisfying capacity of a commodity is called......
A. MPC B. UTILITY C.MOC D. MPS.

3. The curve which is rectangular hyperbola....
A. MC B. AFC C.TVC D.AVC

4 Micro Economics is also known as......
A . Income Theory B. Aggregate Economics C. Price Theory D. A and B

5.The Great Depression of 1930’s started in the year... A.1930 B.1929  C.1933D. 1928

6. A firm under Perfect competitive market is......
A . Price Taker B. Output Taker C. Price Maker D. All the above

7. Gross Investment = Net Investment + ..................
A . Depreciation B. Net Indirect Tax C. Net Export D. None of the above

8. MPC = 0.6, Then The Value of MPS is........ A.l6 B.1 C.04 D. 0.6

9. An example for capital receipt of government is......
A. Subsidies B. Pension C. Salary D. Income from disinvestment.

10. Which is favorable trade to the nation.
A. Export greater than import B. Export is less than import C. Export equal to import
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Il.  Answer any Four questions . Each carries score-2 (11-15)
11. Classify the following as Tax revenue and Non tax revenue.
(Customs duty , Fees, Fine, Excise duty)

12. Complete the following table

Labour 0 1 2 3 4 5 6

Total Product 0 3 10 18 24 29 33

Marginal Product

Average Product

13. Write two examples for substitute goods and complementary goods.

14. Write the appropriate Economic term for the following.
(a) The rate of change of consumption as income changes.
(b) The rate of change of saving as income changes.

15.Write any two drawbacks of barter system.
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lll.  Answer any Four questions. Each carries three marks. (16-20)
16. The supply and demand of a product in the market is given below. Find Equilibrium Price
and Equilibrium quantity.
Qs=20+P andQd = 35-2P.



17. What is Price Ceiling. Explain.
18. What are the basic Economic problems of an economy ?
19. What are the main features of Great Depression of 1930's 2.

20. Diagrammatically explain determination of equilibrium income and output in a two sector
economy.
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IV. Answer any Four questions. Each carries Four marks. (21-25)
21. Explain the important motives for demand for money.

22. What is GDP deflator ? The Nominal GDP for 2008-2009 of a country is Rs. 5000 cores and the
Real GDP is Rs. 4000 cores . Find GDP deflator and Interpret the value.

23.Discuss the cost concepts TC, TFC, and TVC. Show it in a diagram.

24. What is the market equilibrium ?. Define Excess supply and Excess demand with the
help of a diagram.

25. Describe different types of exchange rate system.
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26. Given P1 =8,P2=5and M =40
(a) Frame the budget line equation and draw the budget line.

(b) Find slop of the budget line, Find Horizontal intercept and vertical intercept.

27. Complete the following table.

V. Answer any Four questions. Each carries Five marks. (26-30)

Output TFC TVC TC AFC AVC SAC SMC

0 50 0

1 20
2 28
3 60
4 100
5 170
6 250
7 340

28.Calculate GDP from the following.

Firms Value of output Value of intermediate GVA
good
A 5000 1500 ?
B 6000 2000 ?
C 4000 1000 ?

29. Invention of money is the need of the Hour. Explain the major functions of money.

30. Describe the major components of budget.
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VI. Answer any Two questions. Each carries 8 marks. (31-33)

31. (@) What are the properties if Indifference curve.
(b) Diagrammatically explain consumer’s equilibrium.

32. (a) Define Perfect Competition.
(b) List out the different features of perfect competition.
(c) Explain the profit maximizing condition of perfect competition.

33. (a) Which are the different methods of National Income accounting?.
(b) Explain Output method and Income method.
VI.
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QUESTIONS PREPARED BY CLUSTER UNIT KATTAPPANA IDUKKI

1. BAIJU K LUKOSE 2. MANJU GEORGE 3. ANJU MATHEW 4. AMAL DEV K.S

6. SHERIN AUGUSTINE 7.
9. ANGEL JOSEPH. 10. MANJUI

5. ARUN KUMAR IBRAHIMKUTTY 8. SATHEESHP G

11. GREESHMA HELEN JOSE



